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1. 	 (25%) Solve 

)'{ = 3)'1 + 3)'2 + 8 

)'2 = Y1 + 5Y2 + 4e3t by using matrix method. 

2. (25%) Solve 

Y" + y' + 9)' = 0, yeO) = 0.16, y' (0) = 0 by using Laplace Transform. 

Note: A table for some functions f (t) and their Laplace Transforms £(D· 

1(/) ~(f) 	 1(/) :£(1) 

~-1 1 	 lis 7 cos cut 
s 

s2 + w2 

w2 t 1/52 8 sin Wi 
s2 + w2 

3 12 2!/S3 9 cosh at 
s 

a2.1'2 ­

tli n! 	 a4 	 10 sinh at(n = 0, 1, ...) 	 a2s7t+l .1'2 ­

to 	 f(a + 1) S-a5 	 11 eat cos wt
(a positive) sa .... l (5 - a)2 + 1))2 

1 	 weat ~--.....­6 12 eat sin wI s-a (5- a)2 + 6)2 

£(f') = s£(f) f(O) 


£(f") = S2 £(f') - sf (0) f' (0) 


3. (250/0) Find the Fourier series of the function 

0, if - 2 < x < -1 

f(x) = k, if - 1 < x < 1 


{ 
0, if 1 < x < 2 

4. (25%) Solve the following initial value problems. 

( llX)2 . u y = 1, u(x,O) = 3x + 1. 
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